Warm up - Division patterns
Find the missing values
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Talk Task - Short Division as sharing p
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1. Complete the calculations using the short division method '/
\ Explain ¢/

2. If you have place value counters you can use these to demonstrate )

3. Explain each step of the method including estimation
4. Try to use the key vocabulary learned today

Dividend o Quotient

e

8572 + 4 = 2143




Independent Task - Short division

1. Create a maths story for a word problem for each calculation.
2. Estimate the answer first to check it is reasonable.
3. Calculate using the short division methods shown today.

+3= 9378+ 9= s’
9477 + 3
6870+ 6 = 1694 + 7 =

Dividend SIEOK Quotient

7305+3= 2527 +7 = \ x /

256 + 8 = 32




Independent Task - Short division Answers

1. Create a maths story for a word problem for each calculation.
2. Estimate the answer first to check it is reasonable.
3. Calculate using the short division methods shown today.

. r\' ‘.:;.‘ (;."E E' - ‘F: _‘-::ll
Y h A | 1
-— = L J
— i | Wt |
0 =W 12 9 BT
k‘_-.l.” ‘ e ¥ W

' 1110 5 aW Ea'

- /1 L - )/l )

—_— o }‘ R /‘:/ 'a ("/

—_— e e ) -— g Gl J

' ! ] 1" ' / M r

mEan  mbm » W [x== %) " s

Dividend MIEOT Quotient

‘._'-'.‘,.\ f:" =~ " (== ‘-’~“..' ‘,,f" = 4
] 1 /I f H ] ¥ 'y
—-— J J 1 o " am J Le
emm— F Il "N b ——— - )
— J Gmin ) o — i1l ) |
4 1 I/l o ) |
' flazzess | ™ :““ [N . \\_‘_“7 \'I'iv.:'” \u_"uu

256 + 8 = 32




